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ENGLISH VERSION

Instructions : (1) Write answers of MCQs in main answer sheet.

(2) Figures to the right side indicate marks.

(3) Necessary working note is the part of your answer.

SECTION - 1
1 M.C.Q. 20
(1) By which other name is cost centre known ?
(A) Expense Centre
(B) Input Centre
(C) Income Centre
(D) Output Centre
(2) Operating profit is Rs. 40,000, capital employed is Rs. 4,00,000,
estimated rate ofreturn is 10% then find RI.
(A) Zero
(B) Rs. 4,000
(C) Rs. 44,000
(D) Rs. 36,000
(3) The full form of “ROI and RI” under responsibility accounting system
are
(A) Return on Investment and Residual Income.
(B) Rate of Interest and Residential Investment
(C) Return on Income and Residual Investment.
(D) None of these
(4)  Which among the following is not a factor affecting pricing decision?
(A) Advertising policy
(B) Cost of production
(C) Competitor’s price
(D) Government restrictions
(5) Total cost of 5000 units 1s Rs. 2,20,000 and expected rate of

return on total investment of Rs. 3,00.000 is 10%, then find per unit
selling price ?

(A) Rs. 50
(B) Rs. 44
(C) Rs. 104
(D) Rs. 60
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(11)

The main purpose of ideal pricing policy is
(A) To obtain maximum profit

(B) Sales promotion

(C) To sustain in a market

(D) To sustain competition

Capital employed is Rs. 5,00,000, 40% tax is paid of the earnings
are deducted, expected rate of return on capital employed is 12%,
then find earnings of the company.

(A) Rs. 1,00,000
(B) Rs. 20,000
(C) Rs. 60,000
(D) Rs. 84,000

When 25% profit is added to transfer price and goods are sent to
another process then it is called

1
(A) 335% on cost

(B) 30% on cost

(C) 20% on cost

(D) None of these

When transfer pricing is twice the cost then find the percentage of
profit ?

(A) 100% on cost

(B) 350% on cost

(C) 100% on transfer price

(D) None of these

Which of the following is not applicable to process costing ?
(A) Price increasing section

(B) Abnormal increase

(C) Abnormal wastage

(D) Interprocess profit.

The closing stock is 400 units at the end of production process.
The material are completed by 100%, for labour 1s 60% and
overhead expense is 40% find closing stock.

(A) 400, 160, 240

(B) 400, 240, 160

(C) 400, 400, 400

(D) None of these
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(12) From the following information calculate cost of units of material
Opening stock 300 units 60% complete.
Actual production during the month 3000 units.
Closing stock 1000 units70% complete.

(A) 4000 units
(B) 3900 units
(C) 3600 units
(D) 4500 units

(13) Full form of CPP accounting method is
(A) Cost Purchasing Power
(B) Current Purchasing Power
(C) Current Post Power
(D) Cost Purchase Price

(14) Who first represented CPP method ?

(A) Edwards

(B) Swmny

(C) Fisher

(D) None of these

(15) Full form of CCA is
(A) Current Cost Allocation
(B) Current Cost Accounting
(C) Current Crisis Accounting
(D) Cost Counting Account

(16) Financial particulars are decided on the basis of
(A) Price Level
(B) Index Number
(C) Contract
(D) Purchase Price

(17) COSA means
(A) Financial Cost Adjustment
(B) Purchase Price Adjustment
(C) Sales Cost Adjustment
(D) Closing Stock and Opening Stock Adjustment
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(18) What types of particulars are Cash, Bank, Debtors, Creditors, Loan,

Capital etc.

(A) Non-Transferrable

(B) Non-monetary
(C) Monetary
(D) None of these

(19) Productivity Accounting method is a part of

method.

(A) Costing

(B) Financial
(C) Independent
(D) Managerial

(20) The National Productivity Council started in India in

(A) 1947
(B) 1997
(©) 1958
(D) 19853

SECTION - II

accounting

2 In Sanyam Co., Product-X passes through three processes before it 13
is transferred to finish stock. Following information is available for the

month of April 20135.

Particulars Process- Process- Process-| Finished goods
I (Rs.) II (Rs.) 1T (Rs.) stock
(Rs.)
Opening stock 40,000 24,000 20,000 50,000
Direct Material 26,000 40,000 80,000 -
Direct Wages 20,000 21,000 1,00,000 -
Factory Overhead 20,000 50,000 50,000 -
Closing Stock 10,000 12,000 64,000 66,000
Inter process profit for
opening stock | - 4,000 5,600 20,000
Profit on transfer price cost
each process 20% 25% 10% -

Stock in process are valued at prime cost and finished stock has been
valued at price at which it is received from process-III. Sales during the

period were Rs. 6.00,000.
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Prepare :

(1) Process cost account showing profit element at each stage.

(2) Statement showing actually realised profit.
OR

Manufacturing Co.” for the month of April 2015.

Following are the data in respect of Process-II of “Saloni

13

- Opening stock of work in progress in process II 700 units

Rs. 9,500

- Transfer from process-1 20,300 units Rs. 1,38,100

- Closing stock of process-II 1000 units.

- Units scrapped during process-II 700 units.
- Transferred to process-I111 19,300 units

- Details of expenses of process-II :

Material Rs. 76,560, Labour Rs. 38,160, Overhead Exp. Rs. 19,080

- Degree of completion :

Particulars Opening Closing
Stock Stock

Material 80% 70%
Labour 60% 50%
Overhead Exp. 60% 50%

There was a normal loss of 5% of production and scrapped were sold at

Rs. 3 each unit.

From the above information prepare :
(a) Statement of equivalent units

(b) Statement of cost per units

(¢)  Valuation statement

(d) Process-II account

Balance Sheet as on 1/1/2014

The following information of “ANITA” Co. Ltd. for the year 2014. 13

Liabilities Rs. | Assets

Rs.

Share Capital 1,00,000 | Machinery
12% Debentures 20,000 | Stock
Creditors 20,000 | Debtors

Cash Balance

88,000
12,000
20,000
20,000

1,40,000

1,40,000
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Income statement for the year ending on 31.12.2014

Particulars Rs. Rs.
LB i s 1,60,000
Less : Cost of Sales

Opening Stock (FIFO) i, 12,000

Purchase ..o 48.000
........................................................................... 60,000

— Closing stock (FIFO) ..., -10,000 ... 50,000
Gross Profil ... 1,10,000
Less :

Management EXP. ....ccccoooeevviiiiiiiiii e 24,000

Depreciation .........occoooveiirieeie i 8,800

Debenture Interest ..o 2,400

(Paid as on 31.12.2014) .o -35.200
Net EAMING .oovoiveicirceeee et 74,800

(Greneral Price Index :

On 1.1.2014 = 280

On 31.12.2014 = 420

During the year 2014 (Average) = 350

Balance of debtors and creditors A/c. remains uniform throughout.

Prepare Annual Accounts as per CPP method.

OR
3 (a) From the data given below calculate the gearing adjustment 7
required under CCA method.

Particulars Dt. 1.4.2014[Dt. 31.3.2015
Rs. Rs.
Share Capital 15,00,000 20,00,000
Reserves 5,00,000 8,000,000
Convertible Debentures 10,00,000 14,00,000
Bank O.D. 6,00,000 6,00,000
Cash 1,00,000 3.00,000
Cost of Sales Adjustment 2.,00,000
Monetary Working Capital Adjustment 1,50,000
Depreciation 50,000

(b)  Write difference between 6

“CPP method and CCA Method™.
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4 Prepare operating cost sheet from the following particulars of 12
“Maheshwari Hotel” for January 2015. Calculate cost per plate also.
Determine price per plate in such a way so that 30% of margin of safety
1s available.

Particulars for January 20135.

Particulars Rs. Particulars Rs.
Raw Material for Meals 52,000 Rent 7,000
Exp. for bakery items 8,000 Telephone Exp. 6,000
Exp. of Soup/Juice 5,000 Misc. eatable materials | 3,000
Labour and Salary 26,000 Ins. premium 4,000
Maintenance Exp. 19,000 Int. on Capital 3.000
Depreciation on
Equipments 7,000

During January, except following days 140 plates where sold on an
average base. For the following days an average of 250 plates were sold.

() 141 January
(i) 26 January
(1) Sundays of month of January
Dt. 4th 11th 1gth 25th
OR

4 Division-X is a profit centre which produces four products A, B C 12
and D. Each product is sold in the external market also. Data for the
period is as follows :

Particulars A B C D
Market Price — per unit Rs. 150 146 140 130
Variable Cost — per unit Rs. 130 100 90 85
Labour Hour — per unit 3 4 2 3

Product D can be transferred to Division-Y but the maximum quantity
required for transfer is 2500 units of “D”.

The maximum sales in the external market are as under :

A B C D
2800 2500 2300 1600
Units Units Units Units

Divigion Y can purchase the same product at a slightly cheaper price of
Rs. 125 per unit instead Division X,

What should be “Transfer Price” for each unit of product-D, if the total
labour hours available in division-X are :

(1) 20,000 Labour hours
(2) 30,000 Labour hours
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5 GMH Company fixed the inter divisional transfer price for its product 12
on the basis of cost plus return on investment in the division.
The budgeted figures for the division for the year 2014-15 are as under.

Variable cost per unit ... Rs. 10
Fixed exp. of the division (annual) ......................... Rs. 4,00,000
Current ASSELS .o Rs. 1,50,000
DIEDIOTS oo Rs. 1,00,000
Fixed ASSELS oo Rs. 2,50,000
Budgeted annual production (Units) ..........cccoeevvvveivinennnn, 2,00,000
Expected ROT ..o 28%

Determine the transfer price for the division, and what will be the impact
on transfer price if the production (in units) are increased by 10%.

OR
5 Explain in detail. 6+6
(1) Importance of productivity
(2) Cost Centres
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